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ZR/A T 40 41 196 | 9.9 2.5 89 | 130 | 152 | 81 17.3
EENRER] 378 384 7.0 1.0 1.1 244 | 87 2.1 109 | 41.8
=093l 421 419 | 421 | 185 | 44 13 124 | 126 16 5.4
by 34 33 9.5 2.7 0.0 195 | 85 9.9 55 | 444
NS 27 27 45 | 222 | 107 | 264 | 153 | 148 | 6.1 0.0
Rl 3 3 0.0 0.0 0.0 00 | 355 | 00 00 | 645
e 17 18 665 | 107 | 0.0 0.0 5.2 5.2 5.9 6.6
7|Ef CHE EE 19 20 142 | 200 | 00 144 | 16.1 0.0 57 | 295
XX HY gls 98 94 147 | 10.1 09 | 25.1 6.9 8.8 42 | 228
A D270} 3 3 634 | 00 0.0 00 | 366 | 00 0.0 0.0
4= 62 61 321 | 23.1 14 67 | 141 | 133 | 47 46
4= 97 96 216 | 213 | 32 | 202 | 149 | 98 0.9 5.7
VL= 85 81 359 | 28.1 4.0 49 | 122 | 81 1.3 46
=227l 45 44 334 | 91 89 2.0 184 | 168 | 45 44
A 63 66 100 | 87 13 | 229 | 134 | 58 5.1 26.0
OIXiy 380 380 8.1 0.5 1.1 244 | 80 2.3 10.1 | 43.2
7|Et CIE 2H 45 44 483 | 11.1 2.3 49 | 139 | 23 | 107 | 66
XX =5 glg 209 214 | 433 | 127 | 44 0.0 8.2 136 | 22 13.2
A g 270c} 14 14 140 | 203 | 00 7.3 77 | 224 | 00 | 143
O X|X|BHCk 325 323 | 511 | 134 | 35 1.8 8.8 11.8 | 2.1 6.3
X|X|Sk= HO|Ct 123 123 | 222 | 302 5.5 2.6 158 | 154 | 26 35
X|X|SHK| Qb= HOICk| 65 67 94 | 117 | 33 | 226 | 153 | 58 94 | 133
0} X|X[SHX| S4=CH | 459 460 6.9 2.3 14 | 248 | 92 3.2 85 | 417
A D270} 28 27 270 | 194 | 00 5.1 17.1 65 | 104 | 103
Etall 018 522 524 73 3.9 15 | 248 | 103 | 26 86 | 379
gt 7|2t 453 451 434 | 174 | 41 19 103 | 135 | 22 5.8
A g2 ZACH 25 25 150 | 189 | 00 36 | 178 | 11.5 | 11.7 | 137
2dy 334 332 | 375 | 120 | 24 79 | 125 | 107 | 40 | 117
S 444 434 | 206 | 113 2.8 16.5 9.5 6.4 46 | 259
NS 150 159 9.4 1.1 19 | 21.1 93 6.4 99 | 372
Z g2t 72 75 117 | 173 | 47 110 | 97 5.3 127 | 239
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A 1000 | 1000 | 6.1 96 8.1 44 66 | 380 | 44 | 214 | 14
A = 533 494 8.1 124 | 104 | 43 50 | 363 | 34 | 174 | 17
c= o-d 467 506 4.1 6.9 5.9 44 72 | 397 | 55 | 254 | 10
18-29A 131 155 58 | 138 | 46 3.1 94 | 386 | 07 | 227 | 14
30CH 143 149 7.4 8.8 35 44 | 102 | 359 | 42 | 235 | 20
of 24 40CH 184 174 6.2 8.8 42 1.8 83 | 478 | 39 | 175 | 16
=< 50CH 208 195 1.8 6.1 9.4 3.2 54 | 479 | 54 | 193 | 14
60CH 188 177 79 | 120 | 141 7.7 27 | 343 | 36 | 169 | 06
70M| Of A 146 149 8.1 87 | 123 | 6.1 43 | 195 | 89 | 307 | 14
ME 205 186 7.0 8.0 7.0 76 44 | 406 | 48 | 191 1.5
37|/ 312 323 5.0 116 | 76 35 55 | 432 | 45 176 | 16
™/sE/55/HM5 | 116 108 6.1 9.1 8.1 29 | 128 | 320 | 6.1 22.1 0.8
NS /™S 82 97 8.4 102 | 102 | 23 128 | 414 | 23 124 | 0.0
o+/85 100 98 49 112 | 8.1 6.0 63 | 299 | 39 | 269 | 28
Fi/248H 145 147 7.6 6.7 105 | 4.2 45 | 341 42 | 275 | 06
ZR/H T 40 41 2.5 7.5 44 2.1 2.1 268 | 50 | 468 | 28
=02 378 384 2.5 49 24 0.3 74 | 795 | 2.1 0.9 0.0
=2le2 421 419 8.5 124 | 142 | 83 33 2.9 73 | 417 14
e 34 33 118 | 54 2.7 00 | 132 | 508 | 00 | 162 | 00
xCH g 27 27 109 | 267 | 85 60 | 236 | 80 | 35 86 | 43
ch;qc’E RlHC} 3 3 355 | 270 | 00 0.0 00 | 375 | 00 0.0 0.0
resde 17 18 9.6 6.3 5.9 129 | 59 0.0 123 | 471 0.0
7|Et CIE BY 19 20 56 | 21.8 | 14.1 00 | 102 | 272 | 53 | 158 | 00
XX 8 8= 98 94 5.0 93 54 42 109 | 39.5 18 | 180 | 59
ZF g270c} 3 3 00 | 345 | 289 | 00 0.0 0.0 0.0 00 | 366
UEF 239 238 8.2 87 | 123 | 6.1 28 | 130 | 90 | 390 | 08
M=z 106 104 | 135 | 197 | 220 | 38 5.5 1.8 48 | 262 | 27
= ololgl CIEIE=Y 26 26 3.2 117 | 123 | 147 | 33 157 | 38 | 353 | 00
N 50 143 139 29 139 | 28 0.6 108 | 66.6 15 0.0 0.7
CHM Ll 104 105 8.1 136 | 95 7.6 84 | 291 5.9 16.7 10
=1"] == 78 77 105 | 122 | 85 95 49 | 115 | 13 | 377 | 39
Aot 7|Et CIE 2H 57 58 49 1.5 18 34 58 | 663 | 82 8.2 0.0
XX =2 S 224 228 1.2 24 17 0.8 75 | 719 | 13 | 124 | 09
o ZEZC 23 24 0.0 9.2 34 46 188 | 349 | 00 | 211 8.0
Oj X|X|SHC} 325 323 73 | 126 | 13.1 8.1 3.0 0.9 74 | 465 | 1.1
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CHEd | XIX|SHK| &= HO|CH | 65 67 8.2 113 | 7.1 13 169 | 423 5.0 6.9 1.1
XK= | O X|X|SHA| @b=CF | 459 460 3.1 6.7 1.5 0.5 78 | 740 | 22 3.5 0.6
2 220 28 27 6.7 6.4 9.6 7.5 70 | 222 | 105 | 185 | 117
- Etslf 012 522 524 3.7 7.0 24 1.1 89 | 693 | 26 43 0.7
*'JTLI'I0_|;=| Etall 712t 453 | 451 90 | 130 | 144 | 80 3.5 2.8 67 | 409 | 17
T Z m2ct 25 25 3.1 37 157 | 82 125 | 162 | 36 | 282 | 88
HEedy 334 332 64 | 114 | 81 6.7 47 | 208 | 6.1 348 | 1.1
SO s 444 434 6.5 100 | 97 34 6.8 | 43.1 34 | 158 | 1.2
=k Rk 150 159 44 7.9 54 2.8 74 | 66.1 3.2 2.8 0.0
A g 2ZCH 72 75 5.7 29 5.3 27 | 118 | 251 57 | 342 | 65
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b 1000 | 1000 446 52.7 323 123 6.7 46.0 2.7
Ak = 533 494 46.0 51.0 336 12.4 6.7 443 3.1
°= oy 467 506 433 54.3 31.0 12.3 6.7 476 24
18-29A| 131 155 442 53.6 31.8 12.4 6.9 46.7 2.3
30CH 143 149 469 51.9 35.0 11.9 5.1 46.8 12
of 24 40CH 184 174 283 67.3 19.3 9.0 48 62.5 43
=< 50CH 208 195 36.0 61.1 28.9 7.1 7.8 533 2.9
60CH 188 177 52.1 47.0 36.0 16.1 8.4 386 0.9
704 O| 4 146 149 64.4 30.8 454 19.0 6.6 24.2 48
MZ 205 186 429 54.8 29.8 13.1 53 495 2.3
Z71/e1H 312 323 39.6 56.6 29.7 9.9 5.2 51.4 3.8
N/BE/55/MS | 116 108 52.0 45.7 40.7 11.3 5.9 39.8 2.4
N 243/ E 82 97 28.6 70.4 17.2 11.4 16.8 53.6 1.1
Ci=/85 100 98 58.1 38.9 417 16.4 6.0 32.9 3.0
g/ 8H 145 147 52.8 459 37.1 15.7 6.2 39.7 13
ZR/AF 40 41 49.6 449 37.8 11.8 53 39.6 5.5
202 378 384 2.8 96.0 1.8 1.0 9.1 86.9 1.2
= 2lof2l 421 419 90.5 6.1 67.8 227 18 43 35
e e 34 33 5.7 88.8 0.0 5.7 9.7 79.1 54
. g 27 27 31.7 68.2 8.0 237 22.7 455 0.0
x|c5<|05 L= 3 3 0.0 100.0 0.0 0.0 0.0 100.0 0.0
Aesde 17 18 89.9 10.1 66.9 23.0 10.1 0.0 0.0
7|Et CHE HE 19 20 29.9 61.2 24.2 5.7 10.7 50.5 8.9
XX 8 elg 98 94 244 717 12.8 11.6 11.5 60.2 3.9
A g22c} 3 3 63.4 0.0 63.4 0.0 0.0 0.0 36.6
U2 239 238 80.9 15.9 69.4 11.5 26 13.3 3.1
= 106 104 77.3 175 415 35.8 75 10.0 5.1
= Tolgl pecl=g 26 26 68.1 31.9 425 25.6 8.4 23.5 0.0
A7 w0 143 139 6.4 92.6 4.1 23 10.8 81.8 10
CHM o2 104 105 45.6 49.8 27.0 18.6 97 40.1 45
=1"] ==H 78 77 73.8 239 492 24.6 5.0 189 2.3
Aot 7|Et CIE BE 57 58 17.4 77.7 11.9 55 10.7 67.0 49
XX 25 Qs 224 228 10.8 88.0 8.9 19 3.9 84.1 1.2
A p2ACt 23 24 28.6 66.5 17.0 11.6 25.6 409 48
48 62 61 64.8 32.2 38.6 26.2 9.0 23.2 3.0
G0 44 97 96 58.4 39.8 425 15.9 7.8 32.0 18
e vea 85 81 82.3 14.5 52.0 30.3 5.8 8.7 32
47| 2L 45 44 87.5 7.8 60.1 274 2.0 5.8 47
ch A 63 66 25.9 71.2 14.7 11.2 17.0 54.2 2.9
so O[3 380 | 380 1.5 96.9 0.7 0.8 74 89.5 1.6
Mot 7|Et CI2 25 45 44 62.8 30.7 539 8.9 74 233 64
= XX 22 Qg 209 214 88.0 9.7 70.1 17.9 2.1 7.6 24
At pEACt 14 14 49.6 27.0 27.3 22.3 5.6 214 234
SixjErst E_Pf# ol 522 524 41 94.2 2.3 18 10.2 84.0 16
Amro|74 i 453 | 451 92.1 5.4 68.3 238 22 32 2.6
e A mz7ct 25 25 383 329 114 26.9 13.6 19.3 288
Hedot 334 332 66.9 30.7 53.2 13.7 5.2 25.5 24
ESPN S 444 434 40.2 57.3 27.3 12.9 54 51.9 24
gt N 150 159 12.3 86.6 74 49 10.0 76.6 1.1
Z p2Zct 72 75 39.9 50.8 214 18.5 13.0 37.8 93
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oz | mg @ @ ®
S| 1000 | 1000 52.4 45.1 25
A e EEC 533 | 494 51.0 463 2.7
°= oo 467 | 506 53.8 439 23
18-29A 131 155 53.9 439 2.2
30CH 143 149 51.1 476 13
of 24 40CH 184 174 66.7 30.3 3.1
=< 50LCH 208 195 58.5 39.1 2.4
60CH 188 177 494 496 10
70A| O] 4 146 149 31.3 63.6 5.1
M= 205 186 52.9 440 3.1
47|/ 312 323 56.5 422 13
N/ E/55/ME | 116 108 475 49.0 35
RS- S/ E 82 97 714 26.3 23
Ci=/85 100 98 404 58.5 1.1
FA/248E 145 147 440 52.1 3.9
ZR/AF 40 41 453 49.8 49
HE0{RIFY 378 384 95.2 3.7 10
= 2lefa 421 419 7.4 90.0 26
e e 34 33 88.2 9.1 27
. g 27 27 61.7 338 45
x|c5<|05 L= 3 3 100.0 0.0 0.0
sy 17 18 17.8 82.2 0.0
7|Et CIE BY 19 20 50.7 343 15.1
XX B gz 98 94 69.6 26.4 40
2 paAct 3 3 0.0 63.4 36.6
U2 239 238 16.1 82.3 16
ANE 106 104 19.9 75.6 45
Zolola g 26 26 30.7 69.3 0.0
N w50 143 139 93.1 6.2 0.6
CH A g 104 105 51.5 443 42
=1 SFEH 78 77 17.8 78.6 3.7
Aot 7|Et CIE 2H 57 58 77.9 17.1 5.0
XX 2= QS 224 228 87.0 11.6 15
At paACt 23 24 66.7 25.1 8.2
48 62 61 31.8 66.9 13
G0 FArau 97 96 38.0 61.1 0.9
nl=cy 4EA 85 81 15.7 79.5 48
7| =227 45 44 13.1 822 47
Q2|Al 63 66 71.2 24.1 47
CH e
so O|xHH 380 380 95.6 33 1.1
Mot 7Bt T E 28 45 44 302 67.8 20
e XX 22 QS 209 214 10.6 86.2 33
= g2 4Ct 14 14 27.0 56.9 16.1
0f < X|X|BtCk 325 323 3.8 95.3 0.9
= X|X|St= HO|Ct 123 123 7.7 86.9 5.4
CHEd | X|XISHA| Q= MO|CH| 65 67 80.1 14.8 5.1
XK= | O XIX|ISHX] @4=CH| 459 460 95.9 3.1 1.0
A g2 AICH 28 27 31.6 423 26.1
Hade 334 332 32.7 64.6 27
ESPN SCHS 444 434 56.3 426 1.1
gt X2 150 159 84.9 14.6 0.5
A m2 2t 72 75 48.6 37.7 13.7
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K| 1000 | 1000 33.2 434 15.9 75
A =Hd 533 | 494 349 495 10.9 47
c= of 4 467 | 506 316 375 20.7 10.2
18-29AM| 131 155 34.8 38.7 19.3 7.2
30CH 143 149 27.7 46.7 17.6 8.0
o2 40CH 184 174 29.5 50.3 13.2 7.0
=< 50CH 208 195 27.3 49.6 16.5 6.6
60CH 188 177 30.1 446 18.0 7.2
70M| O A 146 149 52.9 27.6 10.3 93
MZ 205 186 316 46.0 15.0 75
Z7|/e1#H 312 323 29.1 46.2 184 6.4
QN/SE/55/HME | 116 108 394 445 8.8 74
X4 /NS 82 97 16.6 432 32.6 75
/85 100 98 42.1 39.6 95 8.8
g2 8 145 147 422 38.1 11.3 84
ZR/AF 40 41 433 35.9 10.6 10.3
H=0{ RIS 378 384 16.7 432 33.9 6.2
= 2lofa 421 419 52.8 37.0 3.7 6.4
e ey 34 33 20.7 429 18.5 17.9
Xt Nedlg 27 27 37.3 52.2 10.5 0.0
XGTE Tt 3 37.5 27.0 0.0 35.5
resde 17 18 734 223 44 0.0
7|Et CIEE BY 19 20 26.8 51.1 7.0 15.1
XX EY gz 98 94 10.5 737 2.0 13.8
A D270} 3 34.5 289 0.0 36.6
T 239 238 524 37.6 6.2 3.7
M= 106 104 38.5 474 16 12.4
= o2l HoE 26 26 30.0 456 11.1 13.2
X7 st 143 139 18.7 51.4 24.0 5.9
M ots=2 104 105 39.5 39.5 14.1 6.9
=1 =FH 78 77 459 35.8 13.2 5.1
Aot 7|Et CIE 2H 57 58 22.7 34.0 27.0 16.4
XX 25 QS 224 228 17.0 493 25.8 7.8
H DEZC 23 24 19.1 437 254 11.9
R 62 61 35.1 464 114 7.1
o A 97 96 394 452 13.1 2.2
H=0f 2= 85 81 330 517 105 48
7| HZ3 45 44 51.2 34.1 10.0 46
Ch A PR 63 66 23.8 450 178 134
= E O|xHH 380 380 18.2 493 27.6 49
Mot 7|Et CIE 22 45 44 453 336 115 9.6
e XX 22 S 209 214 53.9 32.1 2.1 12.0
= g2t 14 14 26.9 37.3 0.0 35.9
0f < X|X[BHCH 325 323 54.7 36.7 3.6 5.0
= X|X| &= Hol|Ct 123 123 36.9 455 6.3 11.2
&3 | X X|SHX| %= HO|CkH| 65 67 26.0 35.5 23.8 14.6
XXz | O X|X|SHK] @F=CH| 459 460 18.4 49.0 26.4 6.1
g2 7AIC} 28 27 29.6 38.7 6.2 254
SIxHErs Bl 218 522 | 524 20.8 46.6 25.7 6.9
AlTto| 7 o I e 453 | 451 476 41.0 5.1 6.3
e 2 m 2 A} 25 25 35.9 19.5 3.1 415
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